N = 0l & At & M A
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2AN: 2322
= 2= JE
¢ XNE230ls 2435 CEERED)
SN -H2A () - MEAY - BES Ol A o4 Ny Hws2
okt 13,766,967 12,971,849 795,118
= 1,480,804 1,560,844 A 80,040
= 3,656,000 3,650,000 6,000
| 240,000 0 240,000
Al 5,432,697 5,357,637 75,060
- 2,957,466 2,403,368 554,098
2stll= ME 2,139,881 2,077,581 62,300
= 43,600 40,000 3,600
Fay 150,000 150,000 0
| 60,000 0 60,000
Al 194,400 195,700 A 1,300
- 1,691,881 1,691,881 0
NE 2350l 243t 333,868 340,568 6,700
Al 69,000 75,700 26,700
- 264,868 264,868 0
MEI=2 X3 30,000 40,000 A 10,000
Al 30,000 40,000 A 10,000
307 2I2t0l A 30,000 40,000 A 10,000
Al 30,000 40,000 A 10,000
02 DIZFA MM E X 30,000 40,000 A 10,000
OMEI=2X&A a8 30,000,000 30,000 40,000 A 10,000
Al 30,000 40,000 A 10,000
A2 R AL O E 20,000 16,000 4,000
Al 4,000 0 4,000
- 16,000 16,000 0
201 Let29Y| 20,000 16,000 4,000
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- 16,000 16,000 0
03 #HAF2 G HI 18,000 14,000 4,000
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J| 60,000 0 60,000

felsUHEZ0ISKH 9,000 0 9,000

= 3,600 0 3,600

Al 5,400 0 5,400

308 X EHSOIA 9,000 0 9,000

= 3,600 0 3,600

Al 5,400 0 5,400

10 B2 S0 E & 2AE A 9,000 0 9,000
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s 6,000 0 6,000

J| 100,000 0 100,000
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T 6,000 0 6,000
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Al 2,750 0 2,750
= 2,750 0 2,750
01 Al 11,000 0 11,000
OIS+ 2208 RS &x 11,000 0 11,000
p] 5,500 0 5,500
Al 2,750 0 2,750
- 2,750 0 2,750
MEREIOF 2R RS AR (RH2ALY) 80.000 0 80,000
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Al 20,000 0 20,000
e 20,000 0 20,000
401 A& HI L 20l 80,000 0 80,000
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Al 20,000 0 20,000
- 20,000 0 20,000
01 Al&H 80,000 0 80,000
OIS+ 22018 BOAANL SHE(HYA) 80,000 0 80,000
p] 40,000 0 40,000
Al 20,000 0 20,000
- 20,000 0 20,000
AMgetee X8 30,000 0 30,000
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307 212+0| & 30,000 0 30,000
Al 30,000 0 30,000
02 UAHAMAYEE 30,000 0 30,000
OBOA 42222 X2 10,000 0 10,000
Al 10,000 0 10,000
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S FHE A € 2E 165,400 172,680 AT,280
= 0 83,640 A 83,640
J| 80,000 0 80,000
Al 80,000 83,640 A 3,640
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201 24l 150,817 141,967 8,850
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02 JIEtE 2 == 21,188 0 21,188
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